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Find the length of the side PQin the triangle PR below, giving your answer to one
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ABCis aright-angled triangle. BC = 15 cm, AB = 7 cm and angle BAC = 90°.
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Aladder is placed against a wall. The base of the ladder is 1.2 m away from the base of
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(b) Calculate the length of the ladder, give your answer to the nearest cm.
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PQRis a triangle with angle PQR = 84° and side lengths PQ = 7.5 cm and QR = 9.2 cm.
Use cosine rule to calculate the length of PR.
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Atriangular field is shown in the diagram below. Calculate the area of the field, give
your answer to the
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PQRis a triangle with angle PQR = 39° and angle RPQ = 128°. PR = 2.6 cm. USE SINE RULE TOFIND PISSING SIDE
Calculate the length of @R, correct to3 significant figures.
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Astudent is calculating the angles in a triangle with side lengths 3 cm, 4 cm and 5 cm, as STUDENT RECOGNISES 34S
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The area of a triangle WXY is 75 cm?. XY = 14.3 cm and angle WXY = 104°.
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ABC is a right-angled triangle. AB = 38 m and angle CAB = 74°.
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Calculate the length of AC.
Give your answer correct to one decimal place.
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ABCis a right-angled triangle. AB = 38 m and angle CAB = 74°,
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